XF CcU—4

2 Hi] H5T4 171 172 173] 174 | 1@tz EA-Ti| 574 191 192 193] 194 | &tz
171 |Fw-MHE  |1E-1E2a=7 3 3] 3| 1 191 (FE#- LI |meoxnys5T 3 3| 3| 1
172| &% |(BED21=F| 0 1 4 ® @ | 192|fksk-FH# |fE-EPa=7| 0 3 3
173| A ER -85 |BORZKRD 3 3 193 (fAE-ILE |®=M7rYRI|R |R 4
174|8F- KB (KigPa=7 3| 3 2 194 |fEAR-BAK|KES2=7| 0| 3] 3 2

2 Hi 574 175| 176 | 177] 178 | 184z 0 2 i 574 195| 196 | 197 198 | 1@tz
175| LE-BR [HERRD 3] o 3 | 195 &I-FER | 772 8 3 1
176 |fFi&- KB |(BEHI5T 0 4 196 [sEK-F)Il |{EBD2=7 0 4
177 3R1G-IUAK  |moebyss7 3 3 1 1| 197 |8hK-EE |BEDL=T 3 0| 3
178|FI-=49F |[K#D2=7| 3| 3| 1 2 198|#AH-tE [KED2=F| 0| 3| 3 2

2 Hi] H5T4 179| 180 181 182 1@tz _0 EA-Tif 574 199 200 201 202 | I&t:
179|XB-8R |wrmoamN| 3| 3| 3| 1 © 199[/ML-ILAR |RED2=7[N] 3| 3| 3| |
180|184 -1k [EBD2=7 ol 1| 4 0o |200|RE-E#E |KHI% 3 3
181|BKR-KE [EHESTC 3 3] 2 201 | KE-E MNEoa=7 2 4
182 TR AR [uarer TREBENE L | [2[EAER [EESa=7] of of 3] 2

EA| 9574 183 184 185 186 [ IBki N EA| 9574 203 | 204 | 205 206 | IRtz
183(A0O-HH |sgozbyssT 3| 3] 2| 1 203(5%-FE#  |EAESTC 3| 3] 3| 1
1842 -Fiy (FE-7ED2=7| 1 0 4 204D EH |HEARD [ 0 3 2
185 | A -RAK |RENRHKD| 1] 3 3 © | 205|K+f-HhE |BWEHI5T 1 3
186 |#2H - LA |mBFAURI| 3| 3| 2 2 206 | RIG-ILE |msoznyssT 0| 0 4

ZH] H5T 4 187 188 189 190 | MEt: @_ ZHi H5T 4 207 208| 209 210 | I&tz
187 | Erfdl-#%y (BFM =7 3| 3| 3| 1 207 |- R R TRTF=RITT 3| 3 1
188| Rk RE (K@Y =7 ol 1| 4 208 (¥R -JE@  |fE-fEPa=7| O o of 4
189[FR-BAX | MHDa1=7 3 of 3 1 209|¥)E WA |REDA=T| 1| 3 3| 2
190 B -tk |EEP2=7| 0| 3| 3 2 210 | WLm - Lme (B @7 (IR [ 1 3| 1 3

2 BB E X
2035%-EF (BAASTC) 187. 5508 - B (B 1=7) 191%&5”—“’-’%(%@%0*1’)"}757)

1MEH-MTHAE-TED212=7)




